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% i B Air = HHEOD)
Bl =mE R E (B TS = 1 140,840
= H e = ini E(B1T4H4E) &4 1 102,680
EE Ly €T HIERSD = 1 90,000
FEAE = 1 62,000
R T = 1 78,000
HYHSEEILE 2490 (E1TT4HEE) &4 1 120,285
[EIRIALE 240 R = (B 1T4H4E) 4H 1 299,140
HEVE 2 arThsE B R AR (H TT4HES) 4H 2 61,500
W1 T KR S URE R = 1 517,000
T BRI (T T4HE) = 1 290,010
By i = 1 55,000
EEZEEH = 1 68,000
(EoieheEE =2 ¢ E 1 52,800
B =UEEoK st = 2 145,000
TEK D BB 2440 = 1 130,000
IEKGTET = 1 80,000
FELLEET = 1 285,000
FeEE TR 4H 1 87,500
HEE TR 4 1 720,000
NBL-MEL-24 #1525 LED 4045525 247 = 1 98,000
10X figS ZAr R = 1 58,000
T EALIRIEES = 1 83,000
T A B 28 = 1 168,000
W B E H 1 81,600
T T R 4H 1 420,000
iR R = 1 90,000
1E1E B 4 1 335,500
“iKEEAEE 4H 1 540,000
TEV A RARIZ AR B 247 = 1 52,450
Feh VAR 4H 1 88,000
NERAYTEY - FENA 4 1 280,000
BB R A 2 50 E 1 61,712
B = 1 296,000
T OB RN TR 4H 1 260,000
TEY) A PRELER R A £ 50 = 1 345,000
DBS BB R (R 1 = - IMNES 204) & 1 97,000
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g4 15 B Air = HEOD)
ﬁ*f%’% = 1 64,350
SRR SRR EM(ETT4EEE) = 1 67,500
HRH RS = 1 80,000
HEjES [H i 1 243,730
RE 25 BAEER(FTT4HEY) = 1 188,720
PEE i 2 204,500
(pEEer= il 4H 1 91,500
MEWETEG ) = 1 514,605
2 E T Fq 1 50,000
TEEREs = 1 58,000
%&ﬁi R E% = 1 112,464
O B (SR E4H SPRV-A3) = 1 300,000
U S EIR (5 5y B E55THE S-PRV) = 1 170,000
HEIER zm 2 52,494
a2 | = 1 84,008
TR ) =z 2 59,858
Hig Rtk = 1 53,893
& E IR S 2 41 1 50,000
— oS A = 2 65,414
SRR A RE A R = 2 52,216
oy R (—E—) = 1 57,868
(B4 e J&E 1 317,800
MR = 1 60,000
Bk ER EiR(E T T4HES) = 1 114,530
B 1 U % = 1 63,000
£ HE =z 1 90,731
ST HI 2 1% e 1 144,400
E RPNt G 2 75,797
i IhRE i 1 53,797
e U EE S s 4 1 70,000
(REZ)
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